
S5

10S6

S4

S2.5

S2

1/29M60ES142

SONUS
Meeting Pod

2024-09-20

01:00
x2

EN Assembly scheme | DE Aufbauanleitung | FR Schéma d'assemblage

in
st

ru
ct

io
ns

.n
ar

bu
ta

s.
co

m

https://instructions.narbutas.com/


a b

i

Additional information about the operation and maintenance of the Sonus can be found by 
scanning QR code. The code can also be found on the control box.
 

Weitere Informationen zum Betrieb und zur Wartung von Sonus finden Sie durch Scannen des 
QR-Codes. Den Code finden Sie auch auf der Control-Box.
  

Des informations supplémentaires sur le fonctionnement et l'entretien de la cabine acoustique 
peuvent être trouvées en scannant le code QR. Le code se trouve également sur le boîtier de 
commande

ATTENTION! Please assemble the product at the place of final use, adjusting the height levelling feets.
HINWEIS! Montieren Sie das Produkt bitte am endgültigen Aufstellort und passen Sie dort die höhenverstellbaren Füße an.
REMARQUE ! Veuillez assembler le produit sur le lieu d'utilisation finale, en ajustant la hauteur des pieds réglables.

Rear wall made from glass
Rückwände aus Glas
Paroi arrière en vitre

Rear wall made from PET felt
Rückwände aus PET-Filz
Paroi arrière en feutre PET

Link: Technical guide

This instructions document contains assembly information for the meeting pod with Right Hand  
door. Pod with Left Hand Reverse Swing door is assembled in the same way.

This instructions document contains assembly information for the meeting pod with Right Hand 
Reverse Swing door. Pod with Left Hand Reverse Swing door is assembled in the same way.
xxx
xxx
Diese Anleitung enthält Montageinformationen für Segmente mit Regalböden. 
Ce document d’instructions contient des informations sur l’assemblage des segments de rangement 
avec étagères. 

Diese Anleitung enthält Montageinformationen für eine Meeting-Kabine mit rechtsseitiger Tür. 
Die Montage der Kabine mit linksseitiger Tür erfolgt auf die gleiche Weise

Ce document d’instructions contient des informations sur l’assemblage de la cabine de 
réunion avec porte à droite. La cabine avec la porte à gauche est assemblée de la même 
manière.

2/29M60ES142

https://instructions.narbutas.com/Silent_room_technical_guide.pdf


a

M48A0345/
M48A0346

M8x45
M42C0430

Ø6.4
M42E0010 

M6x50
M42C0439

Ø50
M45D0152

M8x16
M42C0102

M45A3038

M8x16
M42C0233

M6x16
M42C0039

M6x12
M42C0198

4.5x45
M42A0110

M6x25
M42C0240

M6x12
M42C0043

M42Z9046

Ø6.4
M42E0021 

M4x10
M42C0205

e - x1

h -x1

G4KH01

k - x4

a - x1 b - x1 c - x2 d -x1

n - x1

f - x2

p - x2

G4KL01

j - x1

G4KG01/G4KG02

r - x1 s - x1 t - x1

G4KA02

m - x1

1 x4

7 x12

3 x8 4 x26

6 x24

5 x8

8 x10 10 x209 x20

12 x611 x3

2 x16

* *

**

13 x12 15 x4

Optional 
Optional 
Optionnel 

Part type varies depending on order options 
Der Teiletyp variiert je nach Bestelloptionen 
Le type de pièces varie en fonction des options de commande 

* **

G4KA01/
G4KA03

G4KE01G4KC01G4KM01

G2AG71

G4KD01/
G4KD02

16 x6

14 x24

3/29M60ES142



b

M6x50
M42C0439

M42Z9046

M6x25
M42C0240

4.5x45
M42A0110

M8x16
M42C0102

Ø50
M45D0152

M45A3038

M6x12
M42C0043

M8x45
M42C0430

Ø6.4
M42E0010 

M48A0345/
M48A0346

Ø6.4
M42E0021 

M6x12
M42C0198

M8x16
M42C0233

M6x16
M42C0039

M4x10
M42C0205

e - x1

h -x1 k - x4

a - x1 b - x1 c - x2

n - x1

1150mm

45,3"

f - x2

p - x1

j - x1

1117mm

44"

g - x1

G4KG01/G4KG02

r - x1 s - x1 t - x1

d - x1

G4KA02

m - x1

G4KE01G4KD01/
G4KD02

G4KB01G4KM01G4KA01/
G4KA03

G4KE02

G2AG71G4KH01

***
Part type varies depending on order options 
Der Teiletyp variiert je nach Bestelloptionen 
Le type de pièces varie en fonction des options de commande 

Optional 
Optional 
Optionnel 

15 x413 x18

**

**

2 x16

11 x3 12 x6

9 x20 10 x208 x10

4 x263 x81 x4

G4KL01

16 x6

7 x126 x24

5 x8

14 x36

4/29M60ES142



1 Ø50
M45D0152

2 M6x12
M42C0043

M8x16
M42C0102

Tighten up
Schrauben festziehen
Resserrer les vis

M6x12
M42C0198

h

12

1
k

2
5

3

2 x161 x4

3 x8

Optional
Optional 
Optionnel 

5 x4

5/29M60ES142



3 Check the alignment
Überprüfen Sie die Ausrichtung
Vérifier l'alignement

4

i

Wall top
Oberseite der Wand
Haut de la paroi

 

a

s

The male connector at the bottom of the wall
Der Stecker an der Unterseite der Wand
Connecteur mâle au bas de la paroi

The female connector at the top of the wall
Die Buchse an der Oberseite der Wand
Connecteur femelle au haut de la paroi

 

 

 

Preparation of the wall without table
Vorbereitung der Wand ohne Tisch
Préparation de la paroi sans table

Make sticking out cable ends approximately equal.
Die überstehenden Kabelenden ungefähr gleich ausrichten
Faire en sorte que les extrémités du câble soient à peu près égales

Male connector
Stecker
Connecteur mâle

6/29M60ES142



5
Note! Check which side the wall without the table should be placed according to the order.
Hinweis! Prüfen auf welcher Seite die Wand ohne Tisch gemäß der Bestellung angebracht werden soll.
Note ! Vérifier de quel côté la paroi sans la table doit être placée dans l’ordre suivant.

Installation of the wall without the table
Montage der Wand ohne Tisch
Installation de la paroi sans table

Note! Do not press up cable sticking out of the wall. 
Position it in the floor cutout. 

Hinweis! Das aus der Wand herausragende Kabel nicht 
hochdrücken. Das Kabel in der Bodenaussparung positionieren.

Note ! Ne pas appuyer sur le câble qui dépasse de la paroi. Le 
positionner dans la découpe du plancher.

7/29M60ES142



M8x45
M42C0430

6

7

4

b

4 x9

To install 2nd wall (with table) repeat steps 5 and 6
Um die 2. Wand (mit Tisch) zu installieren, die Schritte 5 und 6 wiederholen
Pour installer la deuxième paroi (avec la table), répéter les étapes 5 et 6

Tighten up
Schrauben festziehen
Resserrer les vis

8/29M60ES142



M8x16
M42C0233

M6x12
M42C0198

M6x16
M42C0039

i

i

8
c

Farme marking:
Top - marking indicating 
plank position (see step 21)
Bottom - up pointing arrow

Top and bottom of the frame are marked 
with up-pointing arrow 

5

6*

7

5 x2 6 x12

Bottom of the frame is marked with up-
pointing arrow 

7 x2

*
Tighten up the screws 6 in sequence: 
from top to bottom.

Screw installing order:
Reihenfolge der Schraubenmontage:
Ordre de pose des vis:

 5 , 6 , 7

Le bas du cadre est marqués d'une flèche 
pointant vers le haut.

Die Unterseite des Rahmens ist mit einem 
nach oben zeigenden Pfeil markiert

Die Schrauben 6 der Reihe nach 
festziehen: von oben nach unten.

Resserrer les vis 6 dans l’ordre: de 
haut en bas.

(I*)

(II*)

(III*)

(IV*)

(V*)

(VI*)

Top of the frame is marked for planks 
(see step )

Le haut et le bas du cadre sont marqués de 
triangles pointant vers le haut.

Ober- und Unterseite des Rahmens sind mit 
nach oben zeigenden Dreiecken markiert

9/29M60ES142



9

10

c

m

 

To install 2nd frame repeat step 8.

Roof position: ventilation openings must be located 
above the table  Note! Do not press cable.

Hinweis! Nicht auf das Kabel drücken.
Note! Ne pas appuyer sur le câble.

Um den 2. Rahmen zu montieren 
Schritt 8 wiederholen

Pour installer le deuxième cadre, 
répéter l'étape 8

Dachposition: Die Lüftungsöffnungen müssen sich oberhalb 
des Tisches befinden

Position au plafond : les ouvertures de ventilation doivent être 
situées au-dessus de la table.

10/29M60ES142



11

i

  

Use the proper channel for cable installation
xxx
xxx

Temporary unscrew the lid
Vorübergehendes Abschrauben des Deckels
Dévisser temporairement le couvercle

Die letzte Schraube nicht entfernen, sondern sie nur lockern.
Ne pas retirer la dernière vis, mais juste la desserrer.

Do not remove the last screw, just loosen it.

11/29M60ES142



12
1

2

3 4

12/29M60ES142



M6x25
M42C0240

13

Tighten up
Schrauben festziehen
Resserrer les vis

1

2

8

8 x10

13/29M60ES142



14a

d

 

Glass wall position: countersink holes outside
Position der Glaswand: Die Senklöcher befinden sich außen
Position de la paroi en verre: les trous fraisés sont à l'extérieur

Note! Before installing the glass wall, check where the rear is and where the front is.
Hinweis! Vor der Montage der Glaswand prüfen, wo die Rückseite und wo die Vorderseite ist.
Note ! Avant d'installer la paroi en verre, vérifier où se trouve l’arrière et où se trouve l’avant.

Installation of a glass wall at the rear
Einbau einer Glaswand an der Rückseite
Installation d'une paroi en verre à l'arrière

14/29M60ES142



M8x16
M42C0233

M8x45
M42C0430

Do not tighten up
Nicht festziehen
Ne serrez pas

Do not tighten up
Nicht festziehen
Ne serrez pas

i7

(I)

4

(II)

7 x44 x4

Screw installing order:
Reihenfolge der Schraubenmontage:
Ordre de pose des vis:

(I)  7 (top / oben / haut)

(II) 4 (bottom / unten / bas)

15/29M60ES142



M6x50
M42C0439

Ø6.4
M42E0010 

(I)

(II)

910

9 x10 10 x10

Tighten up the screws in sequence
Die Schrauben der Reihe nach festziehen:
Resserrer les vis dans l’ordre

(I)  top / oben / haut
(II) bottom / unten / bas

*

Resserrer les vis dans l’ordre: 
de haut en bas.

Die Schrauben der Reihe nach festziehen: 
von oben nach unten.

Tighten up the screws in sequence: 
from top to bottom.

(I)

(II)

(III)

(IV)

(V)

16/29M60ES142



14b

d

PET felt wall is installed similar to glass wall. Refer to step 14a for detail instructions.
Die PET-Filzwand wird ähnlich wie die Glaswand montiert. Siehe Schritt 14a für detaillierte Anweisungen.

Installation of a PET felt wall at the rear
Montage einer PET-Filzwand an der Rückseite
Installation d'une paroi en feutre PET à l'arrière

La paroi en feutre PET est installée de la même manière que la paroi en verre. Se référer à l'étape 14a pour 
des instructions détaillées.

17/29M60ES142



i
15

e

Door is installed similar to glass wall. Refer to step 14a for detail instructions.
Die Tür wird ähnlich wie die Glaswand montiert. Siehe Schritt 14a für detaillierte Anweisungen.
La porte est installée de la même manière que la paroi en verre. Se référer à l'étape 14a pour des instructions détaillées.

Installation of a door
Einbau einer Tür
Installation d’une porte

18/29M60ES142



M48A0345/
M48A0346

16

Tighten up
Schrauben festziehen
Resserrer les vis

11 11

11 x3

Outside
Außen
Extérieur

Inside
Innen
Intérieur

1 2

3

19/29M60ES142



4.5x45
M42A0110

i

17 Ø6.4
M42E0021 n

1

2

12

16

12 x6

First of all install upper screws then lower one
Zuerst die oberen Schrauben anbringen, dann die unteren
Installer d'abord les vis supérieures, puis la vis inférieure

16 x6

20/29M60ES142



i

18
1

r

2

3 4

 

5

 

*

Hide cables in the wall cavities.
Die Kabel in den Hohlräumen der Wand verstecken
Cacher les câbles dans les cavités murales

Use screws removed in 11th step
Die im 11. Schritt entfernten Schrauben verwenden
Utiliser les vis retirées à l’étape 11

Optional 
Optional 
Optionnel 

Follow instruction M60Exxx for dimming controler mounting.  It is included in the specific package. 
Folgen Sie der Anleitung M60Exxx. Es ist im jeweiligen Paket enthalten. 
Suivez les instructions M60Exxx. Cela est inclus dans un emballage spécifique. 

*

Tighten up the screw
Schrauben festziehen
Resserrer les vis

21/29M60ES142



M42Z904619

Do not overtighten
Nicht überdrehen
Ne serrez pas trop les vis

M4x10
M42C0205

f (a variant / Variante / variante)
f and g (b variant / Variante / variante)

 

13 14

14 x

13 x 12 (a)
18 (b)

24 (a)
36 (b)

It is not recommended to use an electric 
screwdriver because of risk to break panel

Es wird nicht empfohlen, einen 
Elektroschrauber zu verwenden, da die 
Gefahr besteht, dass das Panel zerbricht

Il n'est pas recommandé d'utiliser un tournevis électrique 
à cause du risque de casser le panneau

22/29M60ES142



b

20
1 2 f

The rear panel g is installed in the same way
Die Rückwand g wird auf die gleiche Weise montiert
Le panneau arrière g est installé de la même manière

23/29M60ES142



i

a i

21 p

p

Top plank
Oberes Brett
Planche supérieure

Bottom plank
Unteres Brett
Planche inférieure

Planks marking
Markierung der Bretter
Marquage des planches

Planks for the rear wall are instelled in the same way

Die Bretter für die Rückwand werden auf die gleiche 
Weise verlegt

Les planches de la paroi arrière sont insérées de la 
même manière

24/29M60ES142



22

1

2

Optional. Pod with the swivel castors.
Optional. Pod mit Lenkrollen
Optionnel. Cabine avec des roulettes pivotantes

25/29M60ES142



Check the alignment
Überprüfen Sie die Ausrichtung
Vérifier l'alignement23

26/29M60ES142



M45A3038

25

24 15
15 x4

27/29M60ES142



26

 

 

Tuck carpet edge under the side wall  
Teppichkante unter die Seitenwand klemmen
Rentrer le bord de la moquette sous la paroi latérale

Tuck carpet edge under the side wall  
Teppichkante unter die Seitenwand klemmen
Rentrer le bord de la moquette sous la paroi latérale

28/29M60ES142



28

29

27

t

1 2

OFF

ON

29/29M60ES142



S3

S1.5

1/7M60ES143

SONUS
Door lockset

2024-08-02

00:05
x1

EN Assembly scheme | DE Aufbauanleitung | FR Schéma d'assemblage

in
st

ru
ct

io
ns

.n
ar

bu
ta

s.
co

m

https://instructions.narbutas.com/


a

b

i

a - x1 b - x1 c - x1 d - x1

h - x2g - x2e - x1 f - x1 j - x1

a - x1 b - x1 c - x1 d - x1

g - x2 h - x2 j - x1

Additional information about the operation and maintenance of the Sonus can be found by 
scanning QR code. The code can also be found on the control box.

Weitere Informationen zum Betrieb und zur Wartung von Sonus finden Sie durch Scannen des 
QR-Codes. Den Code finden Sie auch auf der Control-Box.

Des informations supplémentaires sur le fonctionnement et l'entretien du Sonus peuvent être 
trouvées en scannant le code QR. Le code se trouve également sur le boîtier de commande.

This instructions document contains assembly information for the Right Hand lockable and non-lockable locksets. Left Hand  
locksets are assembled in the same way.

Dieses Anleitungsdokument enthält Montageinformationen für das rechtsseitige abschließbare und nicht unverschließbare 
Schloss. Die Montage des linksseitige Schlosses erfolgt in gleicher Weise.

Ce document d’instructions contient des informations d’assemblage pour la serrure verrouillable et non verrouillable de 
droite. Les serrures de gauche sont assemblées de la même manière.

2/7M60ES143



1a

1b
2a

2

1

e

2

f

1

2

a

Go to step 2
Fahren Sie mit Schritt 2 fort 
Aller à l'étape 2 

3/7M60ES143



3

4

*

g

2

a

1

2

Accessory included in the lockset
Zubehör im Schlosssatz enthalten
Accessoire inclus dans le kit de serrure

1

*

4/7M60ES143



7

5

6
1

g

2

1

h

2

b

5/7M60ES143



9

10

8
1

h

2

c

d

6/7M60ES143



11
j

7/7M60ES143


	0.1
	Drawing View1

	0.2
	Drawing View217
	Drawing View218
	Drawing View222

	0.3
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View53
	Drawing View99
	Drawing View152
	Drawing View216

	0.4
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View162
	Drawing View231
	Drawing View232
	Drawing View233
	Drawing View234
	Drawing View235

	1.-2.
	Drawing View27
	Detail View AE (1 : 2)
	Drawing View29
	Detail View AF (1 : 4)
	Drawing View31
	Drawing View37
	Drawing View38
	Drawing View40

	3.-4.
	Drawing View32
	Drawing View34
	Drawing View45
	Drawing View150
	Drawing View153
	Detail View AT (1 : 2)
	Drawing View219
	Drawing View220
	Drawing View221
	Detail View BC (1 : 3)
	Detail View BD (1 : 3)

	5.
	Drawing View144
	Drawing View146
	Drawing View148
	Drawing View149
	Detail View AR (1 : 2)

	6.-7.
	Drawing View47
	Detail View AI (1 : 2)
	Drawing View50
	Drawing View51
	Drawing View52

	8.
	Drawing View54
	Drawing View55
	Drawing View57
	Drawing View60
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View179
	Detail View AX (1 : 2)
	Detail View AY (1 : 2)
	Drawing View223
	Drawing View253
	Drawing View254
	Drawing View255
	Drawing View256
	Drawing View257
	Drawing View258
	Drawing View259
	Drawing View261

	9.-10.
	Drawing View61
	Drawing View62
	Drawing View69
	Drawing View70
	Drawing View71

	11.
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View86
	Drawing View251
	Drawing View252

	12.
	Drawing View72
	Drawing View73
	Drawing View74
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78

	13.
	Drawing View87
	Drawing View88
	Drawing View89
	Detail View AL (1 : 2)
	Drawing View91

	14a
	Drawing View116
	Drawing View119
	Drawing View125

	14a(2)
	Drawing View121
	Drawing View124
	Detail View AO (1 : 1.5)
	Detail View AQ (1 : 2)
	Drawing View129
	Drawing View130

	14a(3)
	Drawing View263
	Drawing View266
	Detail View BE (1 : 2)
	Detail View BG (1 : 2)
	Drawing View275
	Drawing View276
	Drawing View277
	Detail View BH (1 : 1.3)
	Drawing View279
	Drawing View280
	Drawing View281
	Drawing View282
	Drawing View283
	Drawing View284

	14b
	Drawing View132
	Drawing View161

	15.
	Drawing View133
	Drawing View160

	16.
	Drawing View134
	Drawing View136
	Drawing View137
	Drawing View138
	Drawing View243
	Drawing View244
	Drawing View245
	Drawing View246
	Drawing View247
	Drawing View248

	17.
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View96
	Drawing View97
	Drawing View98
	Detail View BB (1 : 2)

	18.
	Drawing View100
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Detail View AN (1 : 1)

	19.
	Drawing View155
	Detail View AU (1 : 1)
	Drawing View159

	20.
	Drawing View163
	Drawing View164
	Drawing View165
	Drawing View166
	Drawing View167
	Drawing View170
	Drawing View171

	21.
	Drawing View172
	Detail View AW (1 : 2)
	Drawing View174
	Drawing View175
	Drawing View176
	Drawing View178
	Drawing View227
	Drawing View228
	Drawing View229

	22.
	Drawing View182
	Drawing View183
	Drawing View185
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View192
	Drawing View193
	Drawing View194
	Drawing View195

	23.
	Drawing View196
	Drawing View197
	Drawing View198
	Drawing View199
	Drawing View202

	24.-25.
	Drawing View204
	Detail View AZ (1 : 1)
	Drawing View206
	Drawing View207
	Drawing View230

	26.
	Drawing View208
	Drawing View209
	Drawing View210

	27.-29.
	Drawing View211
	Detail View BA (1 : 2.5)
	Drawing View213
	Drawing View214
	Drawing View215
	Drawing View236
	Drawing View237
	Drawing View238
	Drawing View239
	Drawing View240
	Drawing View241
	Drawing View242

	0.1
	Drawing View1
	Drawing View2

	a-b
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View8
	Drawing View9
	Drawing View11
	Drawing View12
	Drawing View45
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58

	1.-2.
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Detail View AE (1.5 : 1)
	Drawing View19
	Drawing View20
	Drawing View59
	Drawing View60

	3.-4.
	Drawing View21
	Drawing View22
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View61
	Detail View AF (1.5 : 1)
	Drawing View63
	Drawing View64

	5.-7.
	Drawing View33
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View50
	Drawing View65

	8.-10.
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View44
	Drawing View46
	Drawing View47

	11.
	Drawing View48
	Detail View AG (2 : 1)
	Drawing View51


